Section—-C 2%x14=28

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 14 marks.
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10. What do you understand by development
communication ? Discuss the process of
development communication.
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11. What is globalization ? Explain the impact of
globalization.
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12. Write about the development of communication
revolution in India.
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13. What is Questionnaire ? Discuss the qualities of
Questionnaire.
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

fder .- T' wwA-w ‘e, ‘e’ SR ‘! e Evel | fawifea ®
TIF @UE B FREYHER T # Sw AR

Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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What is Census Method ?
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What is Authoritarian theory ?
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Write the full form of PURA.
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Elaborate the Rural Journalism.
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What is Decentralization ?
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In which year Lasswell Model was introduced ?
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In which year telephone was invented ?
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Section-B 4x7=28
(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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. Explain the characteristics of communication.
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. Write the short note on Osgood Model of

Communication.
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. What do you understand by Experimental

Method ? Discuss it.
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. Discuss about the Communist Theory.
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. Write about the folk stories.
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. What do you mean by Liberalization ? Discuss it.
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. What is Agriculture communication ? Explain it.
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. Write the short note on folk media.
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